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Standard Derivatives
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— lnx = - —a* =a*1 — 1 =
nx X dxa @ mna dx 084 * xlna
) . d 5
— sinx = cos x — COSX = —sinx — tanx = sec” x
dx dx
d 2
— secx = secxtanx — CSCXx = —cscxcotx — cotx = —cscox
dx dx
sin lx = ; — cos 1x = —# i tan lx = 1
N /1 — x2 dx N /1 — x2 dx a 1+X2
sec lx = 1 — csclx = —; i cot lx=—
x[VaZ—1 dx x| Va2 —1 dx 1+ x2
Standard Integrals
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/x”dx:n+1+c ;dx:1n|x|+c
ax
/exdx:ex+c /axdx:—+c
Ina
/sinxdx=—cosx+c /cosxdx=sinx-|—c
/seczxdx:tanx—{—c /csczxdx: —cotx +c¢
/secxtanxdx —secx +¢ /cscxcotxdx = —c¢scx+c

/tanxdx = —In|cosx|+c

/secxdx =In|secx + tanx|+ ¢

=sin Tx+c¢

/ dx
V1—x?

dx
xvVx?—1

—=sec ! |x|+¢

/cotxdx =In|sinx|+¢
/cscxdx = —In|cscx + cotx| + ¢

/ dx —tan_1x+c
14+x2




